Question E1, Item 2.
Choose only one answer by putting a checkmark in the box.  Checking off more than one box invalidates the answer.  Also, explain in-detail why such answer is chosen.

[image: image1.png]Consider five different control systems, with the descriptions below. Which system will have
the slowest rise time?

O System 1: two complex poles at: 1035, -10 4§5;
0 System 2: two complex poles at: -10 55, -10 +j5 and a zero at +2;

O System 3: two real poles at -10, -3;

O System 4: two complex poles at: -10 =5, -10 +5; and one real pole at -6;
{3 System 5: two real poles at -10, -3; and a zero at +2.
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